e 2"olA x of dole?

@ 3cm @ 3.5cm @ 4cm

@ 4.5cm ® 5em



@ 4cm ® 6cm @ 7cm ® 8cm

@ 2cm



29

B2 g2 ygoltt xyo gk

o

=
T

@ 130 ® 150 @ 200 ® 210

® 100



4.

th2 Z19ol4 AB// DE € |, DE ] Zo]=?




5.

oFS 73] AD = /A 9] O[S BAI0]
tt. AB=12cm ,AC =4cm ,BC =
10cm ¢ o, BD ¢ Ao]&?

® 3cm @ 5 om

@ Tcm ® 5 om




6. The TFelA H 0 7 AABC 9 914 1, sx o] 3718 Fsfeler.

A

40

Q



ok I} 2ol aABC oA /A 9} /C o o 5EAS) wHE A I
o3 543 7 1 S A|vkx AC o e 443 AB, BC o] w2
212} D,E @ @ ), ABDE ¢ Ee¢] Aol Fotolet.

a = cm



o2 HPAPHY ABCDOlA x+y°o g A

— )
27 v
® 3 @ 5 ® 7 j
@ 9 ® 11 ’ ‘



S DABCD 7} B AP o] H|L & 5l x, o] Zhe Fatolz).

A---Ut--.D




10. o2 1Ho|A ABCD7} rtE&R Y o, A

D
x—y ol g Fotoleh (2h, vkl \o.
SZy—2)cm
e\

B~12em--C

D L
=%



=AC

@ AP

= AACQ

O AAPQ

® /PAQ = /CAQ

® /APQ=190°



12.

FPAPHT ABCD oA LA, £C 9] o] F&A
o] ¥ BC, AD ¢} 9= H-& 22T E, F 2t
st o], AD = 12cm, AB = 10cm, /BAD =
120° o, DAECF 9] =29 Zo|& 5t
ozt

D L cm




13. oS 193} 2 QBr) Lok 120 28 et Ad kool L
2

TS A=t 244 Eo] AF oA, Y] RES Af-=0 2=
A Z7HE oY
6cm
10cm
D 148 & @ 180 & B 244 B

@ 345 & ® 392 &



BCD oA A
Jojt}t, MN =

2,
I
ol
ol >

cm



o 479

Fod=t.

IS

s

A et= H= Q =F A

~o

o
T

57

MNP 9] § o]

47

ABC 9] §o]7} 24 & m,




